Solving Multi-Step Equations - Review

Name ﬁ—*’- Ei

Solve each equation. Exact answers in simplest form. Show your work!

1) -8x=-5(-3 +x)

%= -5
3) 2k + 77k - 4) = 2k - 28
=0
5) 35-3a=2(a+4)+2
a=5

7y =2(n—4) =16+ 6n

13) 7(8v+4)+ 8(1 —4v) =2 —-5v+1 -4y

= -]

2) 2k-23=1-2(-8k-6)

=2

4) 34 - 6x=-8(8 — x) +x

K=2

6) -2+ 7x=-2(1 + 5x)

=0

8) 106 +8=-128

o

10) 1 - 10x* =-639

14) 7(x + 6) = 8(x + 4)

.X=,O

1D:

1



15) 6(1 +6x) — 1 = —6(—4 — 6x)

¢

Sketch the graph of each line.

17) y=-3x+2

16) 2(1+2a)=-7(-3a+7)

a=3

18) y=——x+5
a2
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